[S4|0 2 XML element A &] ex) http://www.kma.go.kr/wid/queryDFS.jsp?gridx=59&gridy=127

xml 3 E

xm| &4

H| 2

<?xml version="1.0" encoding="UTF-8" ?>

xml A AZ0 oh= H2|(utf-8) 1A Ml

- <wid>

SHo= €7

- <header>

A9 79slE 27

<tm>201003081400</tm>

g2t # Al ZbyyyymmddhhMM

[02, 05, 08, 11, 14, 17, 20, 23A] (1Y 83])]

Az step: SHOE & 48R 222 252/ H/W

<ts>4</ts> o
Aez/D
<x>59</x> XEHH
<y>127</y> yELH
</header> X9, 7984 Element EH7|
- <body> HIC| Q2|HE E7|

- <data seq="0">

48A|2+E sequence 1M 3A[ZH0f| Ci$t data Element

SUHOE= 71| HEQAE 3AIZH ZHH L2 48A|7H FE
OlE5t= A2 <X}, Jeid HEZ 02 @45 #H

KMEE O|EARO| A|IZHS WEA|IZH+IAIZHEE 3A12H A (3
Nzt ARt R O] A Q)

et SHEA|ZHO| 2t 15~ 18T0| KA.

02A| data seq = 0~14 (154

05A| data seq = 0~17 (18%
08A| data seq = 0~16 (17
11A| data seq = 0~15 (16
14| data seq = 0~14 (15
17A| data seq = 0~17 (18
20A| data seq = 0~16 (17

o TN I O T VoM N oL Wakd RY

e e rf g

iy

)
)
)
)
)
)

&

<hour>18</hour>

SUIO = 3A[ZFEER{(15A[~18A|77HK])

0%
ol
I
i[>
H-|

18A| pointZ} QA : 7|2, Z

15A]~18A] 27t HRQ A : SHSAE

or

H.

0¥

<day>0</day>

IR Z(Rs/HE/2 & 25)

<temp>6.5</temp>

SITYA|ZHE & (15A] ~18A])

<tmx>-999.0</tmx> X2 & missing(4f0| 8 22)
<tmn>-999.0</tmn> F M2 & missing(4f0| 8l 22)

<sky>4</sky>

shsAE|RE

@1:Hs
@2:FEZE
®3:FEES
@4:.58

& U0 2XML




xml I E xml A H| 1
@®0:¢gls
@1:4
<pty>0</pty> drdHIAE ® 2: H|/=
@ 3 : /4|
®4:F
SED
@ 7& =2
® TE HS
<wfKor>Z#g </wfKor> =M S0 @ &g
® H]
® =/H]|
@ =
@ Clear
@ Partly Cloudy
® Mostly Cloudy
<wfEn>Cloudy</wfEn> ELAR:LY @ Cloudy
® Rain
® Snow/Rain
<pop>17</pop> ZT2ED
[25ZEF U BAYY / HEW
@ 0.1mm OJ2F Omm E= Qi18)/0<=x<01
@ 0.Imm O|4f Imm OJ8tAmm 0|8 /0.1 <=x < 1
<r12>0</r12> 1247t oAbz 2 ® Imm O] 5mm [JEH1~4mm) /1 <= x <5
@ 5mm 0|4 10mm O|2H5~9mm) /5 <= x < 10
® 10mm 0|4t 25mm O|8H10~24mm) / 10 <= x < 25
® 25mm 0|4t 50mm 0O|2H25~49mm) / 25 <= x < 50
A E0mm OLAHEOmm QAN /50 «— v
EEECEEENTE NS
@ 0.1cm OJ2F (Omm EE= Q2) /0 <=x <01
@ 0.Imm O|& Imm O8tAmm 0|2 /0.1 <=x < 1
<s12>0</s12> 1L2A1 2 o 2 ® 1mm O|A 5mm O|2k1~4mm) /1 <=x <5

@ 5mm 0|4 10mm O|2H5~9mm) /5 <= x < 10
® 10mm 0|4t 25mm O|2H10~24mm) / 10 <= x < 20
® 50mm O[AHS0mm O|AH /20 <= x

<ws>1.8</ws>

dt= Xl ¢ 0lE(E )

& U0 2XML




xml 3 E xml M H| 1

<wd>2</wd> = %%_*(E%*) T8 R/E 28
/3L 0~7 (8] 55 5 & & M M SM)/
® S(B)
@ =(N)
® =3&(NE)

<wdKor>&</wdKor> Z 5k 0f @ SMNW)
® H(S)
® H&(SE)
@ HAM(SW)
@ MO
@ E(3)
@ N(=)
® NE(E3)

<wdEn>E</wdEn> =gk of @ NW(SA)
® S(&)
® SE(2&)
@ SW(EA)
@ (A

<reh>49</reh> S5E%

</data> 1HF] 3A|Z2t0f CHst data Element & 7|
- <data seq="1"> 48A|7tE sequence 2H T 3A|Zt0f| CHSt data Element

<hour>21</hour> SH|0| & 3A|ZHEFR| (18 A ~21A|77}K|)

<day>0</day> 1HM S (Rs/HY/2 & 25)

<temp>4.5</temp> SITHA|ZH2 £ (18A|~21A])

<tmx>=-999.0</tmx> XD 2% missing(gf0] 92 42)

<tmn>-999.0</tmn> A X2E missing(gt0] 92 42)

<sky>4</sky> SISMEIZE [H2301), FE2a0Q), TEE30), S @)

<pty>0</pty> e R E [@12(0), HI(1), H|/&=(2), +=3)]

<wfKor>3Z g </wfKor> FM S0

<wfEn>Cloudy</wfEn> ELAR:LY

<pop>23</pop> AT=EY

<r12>0</r12> 12A|ZF Ofj At zh 22t

<s12>0</s12> 12427t O A& A 2k

<ws>1.8</ws> E£(m/s)

<wd>2</wd> =

<wdKor>&</wdKor> Z5ESI0f

S AU ZEXML




xml I E xml A H| 3

<wdEn>E</wdEn> =230
<reh>60</reh> 5%

</data> 2R 3A|7H0|| CHSt data Element & 7|

- <data seq="2"> 48A|ZtE sequence 3HHT 3A| 70| CHSH data Element
<hour>24</hour> SO E 3A|ZFEFR|(21A| ~24 A 77}K])
<day>0</day> 1M (Rs/HE/2e & 25)
<temp>3.1</temp> SHTYA| 22 E(21A|~24A])
<tmx>-999.0</tmx> F D2 & missing(4f0| 8l 22)
<tmn>-999.0</tmn> F M2 & missing(4f0| 8l 22)
<sky>4</sky> St=dEZE [H20), FEX2a0Q), TEE20), SEM@)]
<pty>0</pty> ZdHIE [§13(0), HIA), Hl/=Q@), &3)]

<wfKor>Z& </wfKor>

M= 0

<wfEn>Cloudy</wfEn> LAY
<pop>23</pop> aT2E%
<rl2>0</r12> 1242t O At Y =2F
<s12>0</s12> 1242t O At M 2k
<ws>1.7000000000000002</ws> Z2(m/s)
<wd>2</wd> =
<wdKor>&</wdKor> ZS5E5L20f
<wdEn>E</wdEn> =230
<reh>68</reh> 5%
</data> 3R 3A|ZH0|| CHSt data Element & 7|
- <data seq="3"> 48A|ZtE sequence 4H T 3A| 70| CHSH data Element
<hour>3</hour> S |0 & 3A|ZHEER| (24 A ~03 A 7}K])
<day>1</day> 28 (s/WHE/2e T WHE)

<temp>2.2</temp>

AR AIZH2 L (24A] ~03A])

<tmx>4.0</tmx>

HNo2c

<tmn>0.9</tmn>

<sky>4</sky> Sl=dEiRE B2 FEXZ=Q) FEES6) 2@
<pty>0</pty> dSEIZE [81S(0), HI(1), H/=@), £G)
<wfKor>3Z 8 </wfKor> M S0

<wfEn>Cloudy</wfEn> LAY

<pop>30</pop> 42 E%

<rl2>5</r12> 1242t oAb Y =2F

<sl12>1</s12> 12A|ZF Ofj Ab R Ad 2t

& U0 2XML




xml I E xml A H| 3
<ws>1.6</ws> S5(m/s)
<wd>2</wd> =
<wdKor>S</wdKor> Sot=0
<wdEn>E</wdEn> SO
<reh>75</reh> 5%

</data>

el 11
:

M 3A|ZH0]| CH3t data Element EH7|

- <data seq="4">

48A|Zt5 sequence SHT 3A| 70| CHSH data Element

<hour>6</hour> S |0 & 3A|ZHEER(03A|~06A|7}K|)
<day>1</day> 28 (s/W/2e 5 YY)
<temp>1.5</temp> SAXYA|ZH2 = (03 A ~06A|)
<tmx>4.0</tmx> Xner
<tmn>0.9</tmn> XMz
<sky>4</sky> Sl=dERE B2 FEZ=Q) FEES6) @)
<pty>2</pty> dSEIRE [81S(0), HI(1), HI/=@), £G)
<wfKor>+£/H|</wfKor> =HM B0
<wfEn>Snow/Rain</wfEn> SNE
<pop>40</pop> BT2AED
<rl2>5</r12> 1242t oAb Y =2F
<s12>1</s12> 12A|7F Of AbE Al 2F
<ws>1.7000000000000002</ws> Z2(m/s)
<wd>2</wd> =g
<wdKor>&</wdKor> ZS5E5L20f
<wdEn>E</wdEn> =250
<reh>83</reh> 5%

</data> S5EIRM 3A|ZH0]| CHt data Element Ef7|

- <data segq="5">

48A|ZtE sequence 6T 3A| 70 CHSH data Element

<hour>9</hour>

SUI0 2 3A|ZFERR|(06A]~09A|77HK])

<day>1</day>

2HM S (LS/UHE/2 & W)

<temp>1.2</temp>

ST A| 7H2 (064 ~09A])

<tmx>4.0</tmx> Fo2e

<tmn>0.9</tmn> XHeE

<sky>4</sky> St=dEZE [H20), FEZ2a0Q), TEE20), SEM@)]
<pty>2</pty> dSEIRE [81S(0), HI(1), H/=@), £G)
<wfKor>+£/H|</wfKor> =EM| SR 0]

<wfEn>Snow/Rain</wfEn> SNE

&40 XML




xml I E xml A H| 3
<pop>63</pop> BT2AED
<rl2>5</r12> 1242t oAb Y =2F
<s12>1</s12> 12A| 7 Of AbE Al 2F
<ws>2.4000000000000004 </ws> Z2(m/s)
<wd>2</wd> =
<wdKor>&</wdKor> =520
<wdEn>E</wdEn> =230
<reh>92</reh> 5%
</data> 6 HM 3A|7H0] CHSt data Element EH7|
- <data seq="6"> 48A|ZtE sequence 7HT 3A| 70| CHSH data Element
<hour>12</hour> S |0 &2 3A|ZEEFR(09A|~12A]77}K])
<day>1</day> 28 (s/W/2e 5 WHE)
<temp>2.5</temp> SATYA| ZH2 Z(09A|~12A])
<tmx>4.0</tmx> Xner
<tmn>0.9</tmn> XHeE
<sky>4</sky> St=dEZE [H20), FEX2a0Q), TEE20), SEM@)]
<pty>2</pty> ZdHIE [S1Z(0), HIA), Hl/=@), &3)]
<wfKor>+£/H|</wfKor> =EM SR 0]
<wfEn>Snow/Rain</wfEn> SNEO
<pop>63</pop> BT2AED
<rl2>5</r12> 12A|2F Of| At Zh=2F
<s12>1</s12> 12A| 7 Of AbE Al 2F
<Ws>2.2</ws> E£(m/s)
<wd>2</wd> =gk
<wdKor>&</wdKor> =520
<wdEn>E</wdEn> =230
<reh>90</reh> 5%
</data> 7MW 3A|ZH0| CH$t data Element EH7|

- <data seq="7">

48A|ZtE sequence 8T 3A| 70| CHSH data Element

<hour>15</hour>

SUIOE 3AIZFEER{(12A[~15A| 7HK])

<day>1</day>

2HMF(LS/UHE/2 T W)

<temp>3.3</temp>

SITYA|ZHE & (12A] ~15A])

<tmx>4.0</tmx>

HNo2c

<tmn>0.9</tmn>

EpS

<sky>4</sky>

SISYHZAL (51281, FEX=2), FEREG) S @)

& U0 2XML




xml I E xml A H| 3
<pty>2</pty> ZdHIE [§13(0), HIA), Hl/=@), &3)]
<wfKor>+/H|</wfKor> =EM| S0
<wfEn>Snow/Rain</wfEn> ELAR:LY
<pop>73</pop> BT2AED
<r12>10</r12> 1242t oAb Y =2F
<s12>5</s12> 1242t O At M 2k
<ws>2.5</ws> S>5(m/s)
<wd>2</wd> =g
<wdKor>&</wdKor> ZS5E5L20f
<wdEn>E</wdEn> SO
<reh>90</reh> 5%
</data> S8R 3A|ZH0|| CHSt data Element & 7|
- <data seq="8"> 48A|ZtE sequence 9T 3A| 70| CHSH data Element
<hour>18</hour> S |0 & 3A|ZHEFR(I5A|~18A|7}K|)
<day>1</day> 28 (s/W/2e T WHE)
<temp>1.4</temp> SATYA|ZH2 E(15A|~18A])
<tmx>4.0</tmx> Xner
<tmn>0.9</tmn> XHeE
<sky>4</sky> St=dEZE [H20), FEX2a0Q), TEE20), SEM@)]
<pty>3</pty> ZdHIE [§1Z(0), HIA), Hl/=@), &3)]
<wfKor>&=</wfKor> ELEERY
<wfEn>Snow</wfEn> ELAR:LY
<pop>80</pop> dr2E%
<r12>10</r12> 1242t oAb Y =2F
<s12>5</s12> 1242t O At M 2k
<ws>2.1</ws> S>5(m/s)
<wd>2</wd> =g
<wdKor>&</wdKor> ZS5E5L20f
<wdEn>E</wdEn> =230
<reh>87</reh> 5%
</data> 9HH R 3A|ZH0]|| CHSt data Element & 7|
- <data seq="9"> 48A|7tE sequence 10EHRY 3A|7H0f| CHPt data Element
<hour>21</hour> S |0 & 3A|ZHEER (18 A ~21A|7}K])
<day>1</day> 28 (s/W/2e 5 WHE)

<temp>1.0</temp>

AT AIZH2 L (18A]~21A])

& U0 2XML




xml I E xml A H| 3
<tmx>4.0</tmx> Xner
<tmn>0.9</tmn> XMz
<sky>4</sky> St=dEZE [H20), FEX2a0Q), TEE20), SEM@)]
<pty>3</pty> ZdHIE [813(0), HIA), Bl/=Q@), &3)]
<wfKor>+&E</wfKor> =M Bh= 0
<wfEn>Snow</wfEn> ELR:]S]
<pop>80</pop> STHER
<r12>10</r12> 12A|2F Of| At Zh=2F
<s12>5</s12> 12A|2F O At A 2k
<ws>2.2</ws> S5(m/s)
<wd>2</wd> =
<wdKor>&</wdKor> =520
<wdEn>E</wdEn> SO
<reh>89</reh> 5%
</data> 10H A 3A|Zt0]| CHEH data Element EH7|
- <data seq="10"> 48A|7tE sequence 11EHRY 3A|7H0f| CHPt data Element
<hour>24</hour> SU| 0|2 3A|ZFERR(2LA|~24 A|7EK])
<day>1</day> 282 (RE/HY/2e T LHEY)
<temp>0.2</temp> SATYA|ZH2 E(21A|~24A])
<tmx>4.0</tmx> Xner
<tmn>0.9</tmn> ES PSRy
<sky>4</sky> St=dEZE [H20), FEZ2a0Q), TEE20), SEM@)]
<pty>3</pty> ZdHIE [§13(0), HIA), Hl/=Q@), &3)]
<wfKor>&E</wfKor> ELAIERY
<wfEn>Snow</wfEn> ELR:]S]
<pop>80</pop> dT2E%
<rl12>10</r12> 12A|2F O At Zh=2F
<s12>5</s12> 12A|2F O At X A 2F
<ws>2.4000000000000004 </ws> Z2(m/s)
<wd>2</wd> =gt
<wdKor>%</wdKor> Sest=0f
<wdEn>E</wdEn> SO
<reh>88</reh> 5%
</data> 11EHRY 3A|ZH0f| CHSt data Element & 7|

- <data seq="11">

48A|ZtE sequence 12EHRY 3A|7H0f| CHSt data Element

& U0 2XML




xml I E xml A H| 1
<hour>3</hour> S U0 2 3A|ZHEER|(24 A ~03A|77FX])
<day>2</day> 3HME(RLs/WE/Ee T 22)

<temp>-0.8</temp>

HRA|ZH2 (24| ~03A])

<tmx>=-999.0</tmx>

Z| 02 & missing(¢40| 8iS E%)

<tmn>=-1.9</tmn> XNHeE
<sky>4</sky> St=dEZE [H20), FEZa0Q), TEE20), SEM@)]
<pty>3</pty> dSEIRE [81S(0), HI(1), HI/=@), =G)
<wfKor>&=</wfKor> ELERY
<wfEn>Snow</wfEn> ENE
<pop>80</pop> 2 E%
<rl2>5</r12> 1242t oAb Y =2F
<s12>5</s12> 1242t O At M a2k
<ws>2.8000000000000003</ws> Z2(m/s)
<wd>2</wd> =
<wdKor>&</wdKor> ZS5E5L20f
<wdEn>E</wdEn> =250
<reh>86</reh> 5%
</data> 12 3A|ZH0]| CHEH data Element EH7|
- <data seq="12"> 48A|ZtE sequence 13EHRY 3A|7H0f| CHPt data Element
<hour>6</hour> SU| 02 3A|ZFEFR|(03A]~06A|77EX])
<day>2</day> Mg (Rs/UHE/2e T 2a)

<temp>-1.3</temp>

ST A| 7H2 (034 ~06A])

<tmx>=-999.0</tmx>

Z| 02 & missing(240| gi= E%)

<tmn>=-1.9</tmn> XHeE

<sky>4</sky> St=dEZE [H20), FEZ2a0Q), TEE20), SEM@)]
<pty>3</pty> ZdHIE [@13(0), HIA), Hl/=Q@), &3)]
<wfKor>&=</wfKor> ELERY

<wfEn>Snow</wfEn> SHNEY

<pop>70</pop> BT2AED

<rl2>5</r12> 12A|2F O At Zh=2F

<s12>5</s12> 12A|2F O A X A 2k
<ws>2,9000000000000004</ws> Z2(m/s)

<wd>1</wd> =3t

<wdKor>5&</wdKor> =520

<wdEn>NE</wdEn> =30

& U0 2XML
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<reh>83</reh> 5%
</data> 13 3A|ZH0]| CHEH data Element EH7|
- <data seq="13"> 48A|7tE sequence 14EHRY 3A|7H0f| CHSt data Element
<hour>9</hour> S |0 & 3A|ZHEER(06A|~09A|7}K|)
<day>2</day> 3HM (s/WE/2e T 22)

<temp>0.1</temp>

ST A| 7H2 (064 ~09A])

<tmx>=-999.0</tmx>

Z| 02 E missing(¢40| giS E%)

<tmn>-1.9</tmn> XHeE
<sky>4</sky> St=dEZE [H20), FEZ2a0Q), TEEZ0), SEM@)]
<pty>3</pty> ZdHIE [S13(0), HIA), Hl/=@), &3)]
<wfKor>&=</wfKor> ELERY
<wfEn>Snow</wfEn> SNEO
<pop>59</pop> U= E%
<rl2>5</r12> 1242t oAb Y =2F
<s12>5</s12> 1242t O At M 2k
<ws>3.2</ws> S5(m/s)
<wd>1</wd> =
<wdKor>%&</wdKor> Seet=0f
<wdEn>NE</wdEn> SO
<reh>82</reh> 5%
</data> 14H® 3A|ZH0]| CHEH data Element EHY|
- <data seq="14"> 48A|ZtE sequence 15EHRY 3A|7H0f| CH$H data Element
<hour>12</hour> S Y0 & 3A|ZEEFR(09A|~12A]7}K])
<day>2</day> Mg (Rs/UHE/2e T 2a)

<temp>3.6</temp>

STYAIZHR E(09A] ~12A])

<tmx>=-999.0</tmx>

Z| 02 & missing(¢40| giS E%)

<tmn>-1.9</tmn> XNHeE

<sky>4</sky> St=dEiZE B2 FEZX=Q) FEES6) 2@
<pty>0</pty> dSEIRE [81S(0), HI(1), H/=@), +£G)
<wfKor>3Z 8 </wfKor> M S0

<wfEn>Cloudy</wfEn> LAY

<pop>30</pop> 42 E%

<rl2>5</r12> 12A|ZF Of| At zZb=2~2f

<s12>5</s12> 1242t O At M a2k

<ws>3.4000000000000004 </ws>

& U0 2XML
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<wd>1</wd> =
<wdKor>5%</wdKor> Set=0f
<wdEn>NE</wdEn> =230
<reh>72</reh> 5%
</data> 15 3A|Zt0]| CHEH data Element EH7|
</body> body Element EH7|
</wid> wid Element EH7|

& U0 2XML




